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set of quastions. write only the flnul
| just write VA2, and so on. To write E)(Lo&&)




. Successor of a noage ey = A, isthe $ G Key value min

larger than X. Time left 0:09:0

The successor of node A is:

]

E

The successor of node B is:

The successor of node C is: I K ‘

The Height of the tree is:| 4

The maximum number of nodes that can be added to the tree without increasing its height is:

18|
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assume you have an array $={5,2,0,,4,3} our goal is to sort this array ascendingly. Assume
you use the selection sort algorithm studied in class, how many compares are performed
when sorting the array ?
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Clear my choice






